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2. (5410 pts.) Let w be defined by w{1) = 0 and w(n) is the number of distinct prlme dnnsors of  for
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3. (10 pts.) Fingd a formula for Z d’(?}) in terms of the prime [actorization of n.
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b) Find the largest k € Z such that 175%|365 - 364 - 363-.-102 - 101.
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5. (10 pts.) I n > 1 is a composite integer, show that ¢(n) < n — /. (Hint: Consider the smallest
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6. (10 pts.) Find 0 < z < 359 such that 7°7% =z { mod 360).
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7. (3 %5 pté.) State whether the follow.ing statements are Iyue or False. Give brief explanalfion for each
case.
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